FPI Specimen

1) 
$$f(x) = x^3 - 3x^2 + 5x - 4$$

a) 
$$f'(x) = 3x^2 - 6x + 5$$

$$x_0 = 1.4$$
  $x_1 = 1.4 - f(1.4) = 1.455 (3dp)$ 

2) 
$$AR = \begin{pmatrix} a & 4 \\ -1 & 1 \end{pmatrix} \begin{pmatrix} 0 & 1 & 1 & 0 \\ 0 & 0 & 2 & 2 \end{pmatrix} = \begin{pmatrix} 0 & \alpha & \alpha + 8 & 8 \\ 0 & -1 & 1 & 2 \end{pmatrix}$$
  
 $(0,0); (\alpha,-1); (\alpha + 8,1); (8,2)$ 

c) 
$$_{2}$$
 R Anear = 2. Anea Imase = 18  
 $_{(0,0)}$  1  $_{(1,0)}$  Anear = 2. Anea Imase = 18  
 $_{(0,0)}$  1  $_{(1,0)}$  3 det A = 9 = 9 =  $_{(0,0)}$  4 = 0 = 5

3) 
$$R^2 = \left(\frac{1}{\sqrt{2}} + \frac{1}{\sqrt{2}}\right) \left(\frac{1}{\sqrt{2}} + \frac{1}{\sqrt{2}}\right) = \left(\frac{1}{\sqrt{2}}\right)$$
 rotation 90° clochwise about origin.

4) 
$$f(x)=a^{2}-6x$$
  $f(4)=-8$   $f(5)=2$ 

$$(4_{1}-8) \qquad M=10 \qquad y-2=10(x-5)$$

$$(4_{1}-8) \qquad y=0 \Rightarrow -\frac{1}{5}=x-5 \Rightarrow x=4\frac{4}{5}$$

5) 
$$2r^2 - \Sigma r - \Sigma 1 = \frac{1}{6}n(n+1)(2n+1) - \frac{1}{2}n(n+1) - n$$
  
=\frac{1}{6}n\left[(n+1)(2n+1) - 3(n+1) - 6\right] = \frac{1}{6}n\left[2n^2 + 3n + 1 - 3n - 3 - 6\right]

8) 
$$f(x) = 2x^3 - 5x^2 + px - 5$$

a) 1-2; => other solution is 1+2; 
$$\alpha + \beta = 2$$
  
  $\alpha \beta = 1-4; 2 = 5$ 

b) 
$$(2x^2-1)=0 \Rightarrow x=1-2i,1+2i, \frac{1}{2}$$

9) 
$$(21)^{n} = (n+1)^{n}$$
  
 $(-10)^{n} = (-n)^{n}$ 

$$N = 1 \begin{pmatrix} 2 & 1 \\ -1 & 0 \end{pmatrix}' = \begin{pmatrix} 2 & 1 \\ -1 & 0 \end{pmatrix} \qquad N = 1 \begin{pmatrix} 1+1 & 1 \\ -1 & 1-1 \end{pmatrix} = \begin{pmatrix} 2 & 1 \\ -1 & 0 \end{pmatrix}$$

$$N = LL + 1 = (21)^{LL + 1} = (21)(21)^{LL}$$

$$= {2 \choose -10} {u+1 \choose -u} = {2u+2-u \choose -u-1} = {u+1-u \choose -(u+1)-u}$$

true for n=1, n=4+1 if true for n=4
: by induction true for all nEZZ+

b) 
$$f(n) = 4^{h} + 6n - 1$$
  $n = 1$   $f(i) = 4 + 6 - 1 = 9 = 3 \times 3$ 

$$f(u+1)-f(u)=4x4u+6x+5-4u-6u+1=3x4u+6$$

true for n=1, true for n=lettleftrue for n=k: by Induction true for all next